(RRCH 2 7) MNFLRE R S O A
1. H % 0 4 W
2. T HFH O % W AR v 2 —EF A S T 5
3. L F o % fr EpNE= +E N
4. T F o F ¥ I FEET
5. L & o #f = TAT 7V MESE T (t=5cm) A=712. Om2
X AR B (SE4%) L=53. 0Om
X EHRERE (P~ F)L=9. 0m
XE#R R E (L) L=16. 0m
6. N KL A H SF o6 4 12 A 20 H (&) 10 B 00 %y
_ 1y SF 6 4 12 A 26 H ~4f 7 4 3 A 15 B ( 80 HM
8. T & fli ¥ & 3,223,000 M (JHEBLLOHI G HE & L)
9. MNFLE e ik 4> 2,930,000 H  (HEBLLOH HEEMNZ G ET)
10. Fc K i) BE Al #% & 2,964,500 1 (JHEBLLOHIGHER % & 1)
11, ¢ 15K i) BR Al 4% 4> 2,695,000 H  (HEBLLOH HEEMRZ G ET)
12. % % 4 % 4 2,964,500 1 (NIHZEFiAHE 269,500 M)
13. 2 % 4 H H SFf 6 £ 12 H 25 H
4. BRHFOLHL TR 4 B HE/DHEEGR RFEERER  HENBD
£ FT REJIETRFHA1 95 1 %M1 1
15. AALAER (GHEFLZE £
N =1 ANFLA%E i =
Bk L iE B DTE
1l K B | cETasEssssom
12X 0B
2 & = 2, 695, 000
3| @A) oN #H 2,900, 000
41 Ax o W H () 2, 695, 000
o AL E
o i 2,695, 000 HEGKE 2,695,000 X1.10 = 2,964, 500
6] @B = #n B4 2,930, 000
| n GIA 2, 745, 000
8
9
10




